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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 (a) 11281 5 1.4 7 71 100
1 (b) 11271 2.7 0.6 3 91.5 99.9
1 (c) 11268 4 1.1 6 65.8 99.8
1 (d) 11155 3.7 1.2 6 61.6 98.8
1 (e) 11179 3.4 1.5 8 42 99

1 (e) SPaG 11191 2.1 0.4 3 68.5 99.2
2 (a) 11279 4.1 1 5 81.1 99.9
2 (b) 11276 4 1.2 5 80.7 99.9
2 (c) 11220 4.4 1.2 6 73.4 99.4
2 (d) 10704 2.8 1.4 6 47 94.8
2 (e) 11192 4.4 1.6 8 55.5 99.2
SPaG 11202 2.1 0.4 3 69.7 99.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2015 Geography GCSE Spec B – Unit 1 – Higher Paper - 4241 / 02 


Question 2 a i) – Describe the distribution of savanna ecosystems. [2] 


Candidate response 1 – 


The savanna ecosystem seems to be either North 


or south of the equater and with in the Tropic of 


Capricorn and the tropic of cancer 
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Question 2 a i) – Describe the distribution of savanna ecosystems. [2] 


Candidate response 2 – 


Savanna ecosystems are between the Tropic of Cancer and Tropic 


of Capricorn. They span across South America, Africa and 


Australasia. They are mostly in the southern part of the world. 


 


 





		ADPBC35.tmp

		They are mainly south of the tropic of cancer and north of the tropic of Capricorn and there are none in Europe.












Candidate response 3 – 


They are mainly south of the tropic of cancer and 


north of the tropic of Capricorn and there are none in 


Europe. 


 





		ADPA628.tmp

		They are mainly south of the tropic of cancer and north of the tropic of Capricorn and there are none in Europe.
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Question Rationale Expected answer 
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2        
(a) (i) Describe the 


distribution of savanna 
ecosystems. 


We are looking for statements that relate to 
distribution patterns. 
Credit two separate correct observations (2X1) 
A minimum of three correct named continents 
listed to show spread. 


The majority are within the tropics (1)  
Spread across 4 (several) continents (1)    
None in Europe (1) The largest area is within 
Africa  (1) Close to the equator (1)   


  2  2 
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Question 2 a i) – Describe the distribution of savanna ecosystems. [2] 


Candidate response 1 – Zero marks 


The savanna ecosystem seems to be either North 


or south of the equater and with in the Tropic of 


Capricorn and the tropic of cancer  


 



Sticky Note

The first part of the answer was seen across a significant number of candidate responses. A comment on distribution patterns, stating that the ecosystem is either north or south of the equator, is not worthy of any reward. 




Sticky Note

As this is the Higher Paper, the candidate was awarded zero marks because they did not study the map closely enough. There is a small area of savanna north of the Tropic of Cancer (in India). There are also three areas of savanna south of the Tropic of Capricorn (in South America, Africa and Australasia).













Candidate response 2 – One mark 


Savanna ecosystems are between the Tropic of Cancer and Tropic 


of Capricorn. They span across South America, Africa and 


Australasia. √They are mostly in the southern part of the world. 



Sticky Note

As this is the Higher Paper, the candidate was not awarded a mark for this statement. There is a small area of savanna north of the Tropic of Cancer (in India). There are also three areas of savanna south of the Tropic of Capricorn (in South America, Africa and Australasia).




Sticky Note

Reference to “span” or spread was rewarded with a mark as long as the candidate identified at least three correct continents.













Candidate response 3 – Two marks 


They are mainly south of the tropic of cancer and 


north of the tropic of Capricorn √ and there are none 


in Europe. √ 


****** 



Sticky Note

The candidate has qualified the distribution pattern with reference to the tropics by adding the word “mainly”. One mark was awarded for this part of the response.




Sticky Note

A second mark was awarded as the candidate has correctly identified an area of the world where no savanna exists (Europe). When describing distribution patterns, it is always useful to note any anomalies.













(4241-02) Turn over.09


9
Examiner


only


© WJEC CBAC Ltd.


4
2


41
0


2
0


0
0


9


Theme 2: Physical Processes and the Relationships between People and Environments


Answer all parts of (a) to (d). There is a choice of question in (e).


2.	 (a)	 Large ecosystems (biomes) cover much of the Earth’s surface. Study the map below. It 
shows the distribution of savanna ecosystems.


N


NORTH
AMERICA


ASIA


AFRICA


EUROPE


AUSTRALASIA


SOUTH
AMERICA


Tropic of Cancer


Tropic of Capricorn


Savanna ecosystem


Equator


	 (i)	 Describe the distribution of savanna ecosystems.	 [2]
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Question 2 d) – Explain why the problems associated with desertification are difficult to 
manage at a local and international scale. [6] 


Candidate response 1 –  


Due to desertification the amount of water is 


reduced and it is hard to be managed on an 


international scale as many places are in aid but 


also some equipment can’t be accessed. Locally, 


the lack of vegetation can’t be managed as all of 


the area would be affected by desertification and 


people can’t provide others. 


 





		CC4241 - 02 - OERs from 2015 - Andy Leeder -  Q2 d PDF with examiner comments.pdf

		******

		On a local scale, the locals may feel that their traditional methods of farming are better and they may, therefore, be difficult to teach as they won’t listen to instructions from an outsider

		******














Question 2 d) – Explain why the problems associated with desertification are difficult to 
manage at a local and international scale. [6] 


Candidate response 2 – 


Desertification is hard to manage as you cannot control the 


weather and there is nothing that can be done about lack of 


precipitation. 


Soil being infertile also means that vegetation cannot be planted 


local people don’t have the money to build sustainable solutions. 


 





		ADPECAE.tmp

		Due to desertification the amount of water is reduced and it is hard to be managed on an international scale as many places are in aid but also some equipment can’t be accessed. Locally, the lack of vegetation can’t be managed as all of the area would...












Candidate response 3 –  
 
 


They are difficult to manage at an international scale 


as it is expensive and requires unity from all the 


countries and them agreeing which may be difficult as 


some countries could be run by dictators or plagued by 


wars. 


On a local scale, the locals may feel that their 
 


traditional methods of farming are better and they 


may, therefore, be difficult to teach as they won’t 


listen to instructions from an outsider like an NGO. 
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		Due to desertification the amount of water is reduced and it is hard to be managed on an international scale as many places are in aid but also some equipment can’t be accessed. Locally, the lack of vegetation can’t be managed as all of the area would...
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		On a local scale, the locals may feel that their traditional methods of farming are better and they may, therefore, be difficult to teach  as they won’t listen to instructions from an outsider
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(d)  Explain why the problems 
associated with 
desertification are difficult to 
manage at a local and 
international scale. 


Levels of response marking. Work upwards 
from the lowest to the highest level 
applying the principle of best fit. Award 0 
marks if the answer is incorrect or 
irrelevant. 
 


level mark Descriptor 
1 1-2 Comprises only simple 


statements. 
2 3-4 Includes some elaboration 


of either local or 
international difficulties or 
both. 


3 5-6 Elaboration of both local 
and international 
difficulties, some of which 
must be detailed. 


 
 
Responses should suggest why local or 
international management is difficult. Must 
include some worthy local and international 
dimension to enter Level 3. 


Simple statements (s):  
Great Green Wall of trees is a big project. 
Magic stones needs outside expert 
knowledge. 
Most people / countries affected are poor /  
Difficult to stop climate change 
The people themselves are at fault 
They don’t know what the solution is. 
 


Simple elaboration (s+e):  
Many countries affected are LEDCs (s) so 
they don’t have the money or resources to 
deal with the problem (e) 
Difficult to stop climate change (s) as it’s a 
worldwide issue (e) 
Solutions are long-term (s) so people will 
need help / education to introduce new 
farming techniques (e) 
Problems go across boundaries (s) so 
difficult to get agreement (e) 
 


Detailed  elaboration (s then e then e+): 
Most are LEDCs (s) so no money / 
resources available (e) countries like 
Kenya have other priorities such as 
dealing with urbanisation (e+) 
Climate change is a worldwide issue (s) 
some MEDCs not willing to change their 
ways in terms of cause of climate change 
(e) as it will cost them / slow their progress 
(e+). 
Solutions are long term (s) so people will 
need support to change local traditions (e) 
many may be reluctant to change farming 
practice / education programmes run by 
NGOs and so impact will not reach out to 
all as NGO resources are limited (e+). 


2 4   6 
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Question 2 d) – Explain why the problems associated with desertification are difficult to 
 manage at a local and international scale. [6] 


Candidate response 1 – 1 mark awarded (a low Level 1 response) 


Due to desertification the amount of water is 


reduced and it is hard to be managed on an 


international scale as many places are in aid but 


also some equipment can’t be accessed. Locally, 


the lack of vegetation can’t be managed as all of 


the area Simple – L1would be affected by desertification 


and people can’t provide others. Simple S– L1 



Sticky Note

For credit, a little more is required at this point as the candidate does not link the statement about reliance on aid to the difficulties of managing desertification at an international level.




Sticky Note

Credit at Level 1 was awarded for the final part of the answer as the candidate is clearly aware that the scale of the problem means that help and assistance from other local people is impossible as they are all facing the same issue.






		ADP8A57.tmp

		Due to desertification the amount of water is reduced and it is hard to be managed on an international scale as many places are in aid but also some equipment can’t be accessed. Locally, the lack of vegetation can’t be managed as all of the area would...












******


Candidate response 2 – 3 marks were awarded (a low Level 2 response) 


Desertification is hard to manage as you cannot control the 


weather Simple S– L1 and there is nothing that can be done about lack 


of precipitation Some Elab – L2. 


Soil being infertile also means that vegetation cannot be planted 


local people don’t have the money Simple S– L1  to build sustainable 


solutions. 



Sticky Note

The candidate makes a simple statement to achieve Level 1 from the outset. The statement is then developed by recognising that a lack of rainfall is the root cause of desertification.




Sticky Note

The second part of the answer does not develop beyond simple statements, so progress through Level 2 is not achieved and entry to Level 3 is not possible. The examiner is required to work out if and where the answer is related to international or local management. It is helpful if the answer is clearly divided into two, perhaps with sub- headings.






		ADP320.tmp

		Due to desertification the amount of water is reduced and it is hard to be managed on an international scale as many places are in aid but also some equipment can’t be accessed. Locally, the lack of vegetation can’t be managed as all of the area would...












On a local scale, the locals may feel that their 


traditional methods of farming are better and they 


may, therefore, be difficult to teach as they won’t 


listen to instructions from an outsider like an NGO. 


 


They are difficult to manage at an international scale 


as it is expensive Simple S– L1 and requires unity Simple S– L1 from 


all the countries and them agreeing which may be 


difficult Some elaboration – L2 as some countries could be run by 


dictators or plagued by wars Fully developed – L3. 


 


   


  


  


 


 


 


 


 


 



Sticky Note

The candidate makes it clear that they are initially talking about the difficulties of international management.




Sticky Note

The first paragraph shows a very good understanding of international difficulties as elaboration builds on the initial simple statement and then is further developed.




Sticky Note

Mark awarded was 6. A top of level 3 response.
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		Due to desertification the amount of water is reduced and it is hard to be managed on an international scale as many places are in aid but also some equipment can’t be accessed. Locally, the lack of vegetation can’t be managed as all of the area would...
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		On a local scale, the locals may feel that their traditional methods of farming are better Simple S– L1 and they may, therefore, be difficult to teach Some elaboration – L2   as they won’t listen to instructions from an outsider
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	 (d)	 Explain why the problems associated with desertification are difficult to manage at a
		  local and international scale.	 [6]
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Question 2 e ii) – A Case Study about a river flood 
 


You will be assessed on your spelling, punctuation and accurate use of grammar in this question. 


 
 Name the place(s) affected by the flood; 


 Explain the physical causes of this flood; 


 Describe the effects of this flood on people. [8 + 3] 
 


Candidate response 1 –  
 


Boscastle which is located in Cornwall was 


affected by a river flood in 2004. 


The rivers valency and the Jordan burst their 


banks. The area has a popular tourist location 


and so it was heavily built upon with many 


impermeable hard surfaces which were made up 


of concrete. The surface run-off was therefore 


increased and the process of infiltration could 


not occur. The steep river banks and the car park 


resulted in a faster speed of the water and less lag 


time. The cars blocked the river. 


The effects on the people resulted in thousands of 


houses being destroyed. 












 


 


 


 


Candidate response 2 –  


 


Boscastle is in the south west of Britain. There were numerous 


natural and physical causes of the 2004 flood. The human 


causes included a low bridge which trapped cars and debree. 


Tarmac had been laid everywhere which increased surface 


runoff. This caused the river to flood faster. 


There is a natural lack of vegetation, so no interception by 
 


plants to slow the water. Also, 180 mm of rain fell in one day 


causing the flash flood. 


The effects on people were mainly social. Homes, cars and 


communications were destroyed. Businesses closed, so no money 


was earned. Crops were destroyed. 


 
 


 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 












Boscastle. With hotels being forced to close and the 


Witchcraft Museum damaged, income is said to have gone 


 


 
 
 
 


Candidate response 3 –  
 
 


Boscastle, Cornwall suffered a river flood on 16th August 2004. 


The flash flood in the River Valency was caused by heavy rain 


(nearly 200 mm fell in a 4 hour period within the small 


catchment). The narrow, steep sides of the valley caused the 


flow to be restricted and funnelled, explaining the rapid rise in 


river levels. Impermeable slate allowed little or no infiltration, 


so surface runoff was extensive and lag time was short. 


The flood affected people socially. Whilst no people were killed 


(many were rescued from roofs by helicopter), life was 


disrupted for at least 6 months as properties had to be dried 


out. Five buildings were damaged beyond repair. 80 cars were 


lost as they flowed out to sea. Some cars were owned by 


tourists. Tourism is very important to Boscastle. With hotels 


being forced to close and the witchcraft museum damaged, 


income is said to have gone down by £2 million. 












 


Question Rationale Expected answer 


A
O


1 


A
O


2 


A
O


3 


SP
aG


 


To
ta


l 


(e) CASE STUDY: Either: 
 
 
 
 
 
 
 
 
 
(i) A case study about an 
extreme weather event: 


 
• Name the place(s) 


affected by the weather 
event; 


• Explain the causes of 
this weather event; 


• Describe the effects of 
this weather event on 
people. 


 


Levels of response mark scheme. Work upwards from the 
lowest level. Award QWC as an integral part of a best fit 
decision. Award 0 marks if the answer is incorrect or 
irrelevant. 
 
Level 1 (1-2 marks): Gives a range of generic descriptive 
or explanation points either of which is simply elaborated. 
Information is communicated by brief statements.  There is 
a basic structure.  There is reasonable accuracy of spelling, 
punctuation and grammar. 
 
Level 2 (3-4 marks): Provides an elaborated account which 
includes some description or explanation specific to the 
place. Communication is clear and logical. Spelling, 
punctuation and grammar have considerable accuracy. 
 
Level 3 (5/6 marks): Provides an elaborated account which 
includes description and explanation specific to the place. 
Communication is clear, logical and has structure. Specialist 
terms are used with proficiency. Spelling, punctuation and 
grammar have considerable accuracy. 
 
Level 4 (7-8 marks): Provides a balanced account which 
includes both elaborated description and explanation 
specific to the place. Communication is very clear, 
sophisticated and well structured. Specialist terms are used 
adeptly. Spelling, punctuation and grammar have consistent 
accuracy. 
 
The descriptor for Level 2 matches the descriptor for 
Level 3 on the Foundation paper. 
In Level 3 the explanation or the description may tend to 
dominate the response.  
Level 4 can only be awarded if the response contains a 
balance of explanation and description.  
Balance means that the candidate has responded 
thoroughly and accurately to both the explanation and the 
description in similar proportion.   


A weather event may include an 
intense period of rain / fog / wind / 
snow / heat wave (as examples). 
The explanation must include 
some accurate reference to 
meteorological conditions. 
The descriptive element is likely 
to include references to disruption 
of travel / danger / damage / cost. 


3 5  3 11 
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OR 
 
 
 
(ii) A case study about a river 
flood: 
 
• Name the place(s) 


affected by this river 
flood; 


• Explain the physical 
causes of this flood; 


• Describe the effects of 
this flood on people. 


Levels of response mark scheme. Work upwards from the 
lowest level. Award QWC as an integral part of a best fit 
decision. Award 0 marks if the answer is incorrect or 
irrelevant. 
 
Level 1 (1-2 marks): Gives a range of generic descriptive 
or explanation points either of which is simply elaborated. 
Information is communicated by brief statements.  There is 
a basic structure.  There is reasonable accuracy of spelling, 
punctuation and grammar. 
 
Level 2 (3-4 marks): Provides an elaborated account which 
includes some description or explanation specific to the 
place. Communication is clear and logical. Spelling, 
punctuation and grammar have considerable accuracy. 
 
Level 3 (5-6 marks): Provides an elaborated account which 
includes description and explanation specific to the place. 
Communication is clear, logical and has structure. Specialist 
terms are used with proficiency. Spelling, punctuation and 
grammar have considerable accuracy. 
 
Level 4 (7-8 marks): Provides a balanced account which 
includes both elaborated description and explanation 
specific to the place. Communication is very clear, 
sophisticated and well structured. Specialist terms are used 
adeptly. Spelling, punctuation and grammar have consistent 
accuracy. 
 
The descriptor for Level 2 matches the descriptor for 
Level 3 on the Foundation paper. 
In Level 3 the explanation or the description may tend to 
dominate the response.  
Level 4 can only be awarded if the response contains a 
balance of explanation and description.  
Balance means that the candidate has responded 
thoroughly and accurately to both the explanation and the 
description in similar proportion. 


It is expected that the flood event 
should be at a regional scale (as 
per the spec), not least the 
explanation of why the flood 
occurred. That said; allow the 
impacts of the flood to be at a 
more localised scale. 
 
The explanation must contain 
some hydrological and / or 
meteorological context, and/or 
relief (landscape) context.  
For explanation we are looking for 
physical causes. No credit for 
human causes. 


 
 
The descriptive element is likely 
to include references to disruption 
of travel / danger / damage / cost 
– as examples 
For description you may credit 
human impacts of the flood. 


     


TOTAL 10 13 7 3 33 
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Level Assessment of spelling, punctuation and the accurate use of grammar - Performance descriptions 
0 Candidates do not reach the threshold performance outlined in the performance description below. 


Threshold  
1 mark 


Candidates spell, punctuate and use the rules of grammar with reasonable accuracy in the context of the demands of the question. Any errors 
do not hinder meaning in the response. Where required, they use a limited range of specialist terms appropriately. 


Intermediate  
2 marks 


Candidates spell, punctuate and use the rules of grammar with considerable accuracy and general control of meaning in the context of the 
demands of the question. Where required, they use a good range of specialist terms with facility. 


High 
3 marks 


Candidates spell, punctuate and use the rules of grammar with consistent accuracy and effective control of meaning in the context of the 
demands of the question. Where required, they use a wide range of specialist terms adeptly and with precision. 


Mark scheme for the June 2015 session - prepared by Andy Leeder following QPEC. This version dated 12/3/14 
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Boscastle which is located in Cornwall was 


affected by a river flood in 2004. 


The rivers valency and the Jordan burst their 


banks. The context is clear.The area has a popular tourist 


location and so it was heavily built upon with 


many impermeable hard surfaces which were 


made up of concrete. Human influence, not physical cause. The 


surface run-off was therefore increased and the 


process of infiltration could not occur. The steep 


slopes bit more needed and river banks Generic statement -  L1 and 


the car park resulted in a faster speed of the 


water and less lag time. Specific explanation – enters L2 The cars 


blocked the river. 


The effects on the people resulted in thousands of 


houses being destroyed. Incorrect observation – Boscastle is a small village. 


******


Question 2e ii - A case study about a river flood



Sticky Note

The section on the effects on people is limited. The comment could apply to any river flood at any location. Specifics about the houses in Boscastle are needed for a case study. The reference to “thousands” of houses being destroyed shows a limited understanding of the location chosen. Only a handful of properties were destroyed beyond repair.




Sticky Note

The candidate uses some general information about the cause of river floods, but the answer enters L2 as they recognise that lag time for the river was reduced.




Sticky Note

The question requires information about the physical causes of the flood (rainfall totals, relief, geology), answers about human influences may be accurate but will not be rewarded.




Sticky Note

A good start, the candidate has named the place and helpfully identified a specific date for the flood.




Sticky Note


3 marks awarded for the geography (a low Level 2 response) and 2 marks awarded for SPaG 












Candidate response 2 – 4 marks awarded for the geography (top of Level 2 response) and 2 marks 
awarded for SPaG. 


Boscastle is in the south west of Britain. There were numerous 


natural and physical causes of the 2004 flood. The context is clear.The 


human causes included a low bridge which trapped cars and 


debree. Tarmac had been laid everywhere which increased surface 


runoff. This caused the river to flood faster. Human influence, not physical cause


There is a natural lack of vegetation, so no interception by 


plants to slow the water. Specific explanation – enters L2 Also, 180 mm of 


rain fell in one day causing the flash flood. Specific explanation –  more L2 


The effects on people were mainly social. Homes, cars and 


communications were destroyed. Businesses closed, so no money 


was earned. Crops were destroyed. Generic descriptive statements -  L1 



Sticky Note

A good start, the candidate has named the place and helpfully identified a specific date for the flood.




Sticky Note

The question requires information about the physical causes of the flood (rainfall totals, relief, geology), answers about human influences may be accurate but will not be rewarded.




Sticky Note

The candidate uses some general information about the cause of river floods, but the answer enters L2 as they recognise that natural vegetation in the catchment is limited.




Sticky Note

Further specific detail about rainfall totals confirms L2



Sticky Note

References to the effects on people are limited and general. No specific information about Boscastle is provided. As the candidate only gave specific information about the physical cause of the flood, entry to L3 is impossible.













 


 


 


Boscastle, Cornwall suffered a river flood on 16th August 


2004. The context is clear The flash flood in the River Valency was 


caused by heavy rain (nearly 200 mm fell in a 4 hour 


period within the small catchment). The narrow, steep 


sides of the valley caused the flow to be restricted and 


funnelled, explaining the rapid rise in river levels. 


Impermeable slate allowed little or no infiltration, so 


surface runoff was extensive and lag time was short. 


A range of physical causes are identified. Explanation is detailed and specific


The flood affected people socially. Whilst no people were 


killed (many were rescued from roofs by helicopter), life 


was disrupted for at least 6 months as properties had to 


be dried out. Five buildings were damaged beyond repair. 


80 cars were lost as they flowed out to sea. Some cars 


were owned by tourists. Tourism is very important to 


Candidate response 3 – 8 marks were awarded for the geography (top of Level 4 response) and 3 
marks were awarded for SPaG. 



Sticky Note

A good start, the candidate has named the place and helpfully identified a very specific date for the flood.




Sticky Note

The physical causes of the flood are clearly identified and explained. Very specific information about the locality is provided suggesting that L4 is possible.








Boscastle. With hotels being forced to close and the 


Witchcraft Museum damaged, income is said to have gone 


down by £2 million. A range of impacts on people are identified. Description is detailed


and specific. L4  awarded. 


******



Sticky Note

The description of the impact of the flood is clear and concise. Very specific information about the locality is provided, suggesting that L4 is possible.




Sticky Note

Given that there is a good balance between the explanation and the description and that both are detailed and specific to the locality, the top of L4 is awarded.
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	 (e)	 Case Studies


		  Answer only one of the questions, either (i) or (ii).


		  You will be assessed on your spelling, punctuation and accurate use of grammar in this 
question.


		  Either,	 Tick (√)
			   your choice


	 (i)	 A case study about an extreme weather event:


		  •  Name the place(s) affected by the weather event;
		  •  Explain causes of this weather event;
		  •  Describe the effects of this weather event on people.


		  Or,


	 (ii)	 A case study about a river flood:


		  •  Name the place(s) affected by this river flood;
		  •  Explain the physical causes of this flood;
		  •  Describe the effects of this flood on people.
	 [8+3]


		  Name of place(s) studied:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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